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1. #2%% % 39 (Terminology explanation) :

(a) #6/B) KR A8 R 7604k A 7% (bubble sorting in ascendant order) (4%)
(b) #¢ X 8)-]\HE 15 & 5] 8 — 73 F 7k (binary search a sorted list in descending order)  (4%)
(c) % 7u#2 X IR B3R 1 8y 5L 4 (deadlock in a multiprogramming environment) (4%)
(d) 7% 25 $38 8 o4 5% 13 (overflow of floating-point arithmetic) (4%)
(e) #£38 % R (recursive function) (4%)

2. AR s B 6 = 7udd F B (empty binary search tree) » 4k 5 3E A (insert) 7T & A 7 ¢
40, 15, 20, 55, 10, 30, 25, 35, 45, 65, 50, 60 2| — /L3 F 4 -

(2) FH®H TARATA LFE I = O F A (4%)
(b) #(a) > ¥ E & =TI F #H69 F F & 2 (in-order traversal) by & £ - (4%)
(c) %&(a) » FE =0 F BHey AT 5 & 3 (pre-order traversal) g 45 & - (4%)
(d) #&(a) » 3F 8 & =t FHHe914 F & 2 (post-order traversal) gy & & - (4%)
(e) &(a) » HHEHM LRSS M A FHMIRIL G =TI FH - (4%)

3. # K — #4742 (a set of processes)#N 2 0 B85 2] 1% » £ 3[:E 89085 A PL, P2, P3> £ & B 43k
70 45 5 %A 30 ms, 43 ms, 9 ms
(a) & 2A s 2 Sy HE#2 7k (first-come, first-served scheduling) » R4 — 184742 44 = 48 05 4

(turnaround time) ~ 34 ©) 48 8F 4] ~ 34 % 4% 0F R (waiting time) & 477 2 (5%)
(b) 3 A & 43 89 T AF 5o f4 89 3k #2 7k (shortest-job-first scheduling) » R 5 — 18 47 £2 49 =) 48 6%
R~ P @R~ 3 F AR AT (5%)
(c) & sk X QB % 0 %% — R ey 5 R (time slice) & Sms > A& — BT 42 &9 B4 B R
P AR B~ Py F AR B Y (5%)

(d) 35 A A%k iR 89 HE 42 7% (deadline scheduling): P1, P2, P3 &4 %% ik 8% 4 (deadline) %] % 110
ms, 60 ms, 15 ms » 8] —BITRGEEFM ~ AR - P3G EFERAT2(5%)
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@ (5%)
1| #include <stdio.h> 8 | int sum(int m, int n)

2| int sum(int m, int n); 9/{ int k, s;

3 | void main (void) 10 s = 0;

4| { int total, x = 3, y = 7; 11 for (k = m; k <= n; k++)
5 . .total = sum(x, y); . 12 .8 +=k;

6 printf (“sum=%d\n”, total); | 13 return s;

711} 14 |}
(b) (5%)
1| #include <stdio.h>

2 | #define N 9

3 | void main (void)

4| { int a[N] = {1, 2, 4, 8, 7, 6, 5, 3, 9};

5 int b[N] = {9, 8, 7, 6, 5, 4, 3, 2, 1};

6 int k, count = 0;

7 for (k = 0; k < N; k++)

8 { if (al[k] == b[N-1-k])

9 ++count;

10 }

11 printf (“count=%d\n”, count);

12 | }
() (5%)
1l | #include <stdio.h> 8 | int fact(int n)

2 | int fact(int n); 91 { 4if (n == 1)

3 | void main (void) 10 return 1;

4| { int acc, x = 5; 11 else

5 acc = fact(x); 12 return n + fact(n-1);

6 printf (Yace=%d\n”, acc); | 13|}

7.1}
(d) (5%)
1| #include <stdio.h> 8 | int fib(int n)

2 |int fib(int n); 9/ { if (n == 0 || n == 1)

3 | void main (void) 10 return n;

4| { int num, x = 6; 11 else

5 num = fib(x) ; 12 return fib(n-2)+fib(n-1);
6 printf (“num=%d\n”, num); | 13|}
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S. ¥4I A —H B (binary code) & R X F B ~ BHEM - FEHE I S MK
#iA#5(machine code of instructions) » X F EH# A 8 fir7x ASCIl #H &7 » REXIXFH
‘A~ °B’E’Z’#y ASCIL #4% A % 01000001 ~ 01000010 £ 01011010 « 22 & FHRHEA 8 47T
2 8974 #(2’s complement) & 5~ © ;% 2 3 & A4k B #240L IEEE 754 (IEEE 754- like)#y 8 43 7T 7%
AT HF LERTARE 3BT BERAB 3 B R) ~ B 4 B T ey BRB(IR
BAREE 1 FR) SMAFEHE L x29%KE

Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit2 Bit 1 Bit 0
BT | FEHIH (3 H) 1 E=et3 BESF>(EBREHD: [

i€ 45 4 09 EH 7u(operand) A IR A ¥ 77 8 Bp R 77 B (register) 3 FRHEATER
BREHBEEYHRE FRENEEHEEABCD AUGE%EA AT HiF
RAZDWMSENHNE00 £ 11> wa| EHEFIE L e EE B (op code) & 2 BT 354
add, sub, mul, div 843 B4 5% 4 00,01,10, 11 - B EEIEALBR KA ¢

54 BHUHEE REEHFSL, REGFEZE2  # A (comment)
] 4o add C, A, B # Register C € Register A + Register B

Bl E B4 8 LU ABE R B

Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

B4 E B OB %% RBEFEHR L RBRYALFE IR 2
(@) FRAATEM T NINLL CEA —BRBETERiEL (4%)
(b) # 8 4L =445 01001011 £ A X FEHM » AEREXT—EAE RXFE? (4%)
(c) 3 8 4L =46 01001011 £-FEBE M A ECREF—BEHME? (4%)
(d) 2 8 fxt=i#45 01001011 AT FBH AN > A CRERT—BFRBME? (4%)

(e) % 8 47— #]45 01001011 & 5745 4 M5 B EREAT—EE S AL ER A (4%)
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